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QUESTION 1

Which security measure is implemented out-of-the-box, and is included if you are not using BYOL licensing with
Exadata Cloud@Customer?

A. Audit Vault and Database Firewall

B. Oracle Native Network Encryption and TDE (Transparent Data Encryption)
C. Oracle Key Vault

D. Database Vault and Data Masking Pack

Correct Answer: B

QUESTION 2

Which two methods can you use to create or modify Oracle Cloud Infrastructure (OCI) re- sources? (Choose all correct
answers)

A. Secure Shell (SSH)

B. Remote Desktop Protocol (RDP)
C. Serial console connection (SCC)
D. OCI REST APIs

E. OCI Command-line Interface (CLI)

Correct Answer: DE

QUESTION 3

Which two are key characteristics of Oracle Autonomous Database? (Choose all correct an-swers)
A. Oracle manages everything

B. Less automated

C. Higher cost

D. Customer manages everything

E. Lower cost

Correct Answer: AE

QUESTION 4
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The DBA has determined that number of OCPU assigned to an Autonomous Database does not provide sufficient
performance. Which option does the DBA have in this case?

A. Open the database in OCI Console and increase the number of OCPU. No downtime required.

B. No downtime is required as number of OCPU can be increased from OCI console, but users have to be informed that
they must not use any application for at least one hour.

C. Call Oracle Cloud Support and raise a request to increase number of OCPU. Expect a downtime of approximately
one hour.

D. Plan for a one-hour downtime and increase the number of OCPU while database is of- fline.

Correct Answer: A

QUESTION 5

Which are two characteristics of Autonomous Transaction Processing (ATP)? (Choose all correct answers)
A. Focuses on creation of indexes

B. Stores data in columnar format

C. Statistics are gathered as part of bulk load operations

D. Optimized for response time

E. Creates autonomous data summaries

Correct Answer: AD
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